MHETAI R R QIR (BURRIR)

(4% 3]

META R (£4K) 18 A i BT 4 A BEEEER (HT : %)
R4 R3 R4 R3 R4 R3

it TETE | BN | BN | R | e TETR | BRINER | IR | B | e TETE | BUNE | BURE | BIR
1| ZisHr 99.5| 99.5 0.0/ 1 |&%~28r| 99.2| 98.9 0.3[ 1| =i 99.6/ 99.5 0.1
2 |[&sH-28|  99.3] 99.1 0.2 2 | XRHT 99.1] 98.8 0.3|| 2 [==m~2=Er| 99.3] 99.0 0.3
3 | KHTHT 99.0[ 99.0 0.0[[ 3| &&E™ 99.0] 99.1| A 0.1|[ 3| KHTHT 99.1] 99.2| A 0.1
4| EES 98.8] 98.9| A 0.1|[ 4| KHTHT 98.9] 98.3 0.6/| 4| BN 99.0] 98.8 0.2
5| BHEm 98.6/ 98.4 0.2 5| R 98.7| 98.3 0.4 4 | ZL#ET 99.0/ 99.2| A 0.2
5 EILHT 98.6/ 98.7| A 0.1|[ 5| XisHr 98.7( 97.9 0.8[[ 6| k&E™ 98.6/ 98.6 0.0
7| STAcHT 98.5 98.5 0.0|| 5 | HHHET 98.7| 98.8| A 0.1|[ 7| /M 98.2| 98.2 0.0
8 [FHEM| 98.4] 98.2 0.2|| 5| sTAcHr 98.7| 98.7 0.0|| 7 [&#x&mT| 98.2] 98.1 0.1
8 | /T 98.4] 98.4 0.0[| 9 [*BEM| 98.5| 97.8 0.7/ 9 [#REM| 98.1| 98.1 0.0
10| 98.2] 98.0 0.2|]| 9| /pETH 98.5| 98.4 0.1|] 9 [ Tachr 98.1] 97.9 0.2
10(Ax>=HT|  98.2| 98.2 0.0/ |11 BHHET 98.3] 98.0 0.3|| 11| EI&HT 98.0/ 98.0 0.0
12| AHEE 98.0| 96.7 1.3| (12| B#&™ 98.1] 97.0 1.1)112] R 97.6| 97.4 0.2
12| BHHET 98.0| 97.6 0.4||12|#+>=mT| 98.1] 97.9 0.2 (13| &A™ 97.4] 97.6|/ A 0.2
14| #iEm 97.8| 971.5 0.3|| 14| ZL#ET 98.0( 97.8 0.2||13| #&™H 97.4] 96.9 0.5
15| E&™ 97.7| 97.4 0.3||15| #&™H 97.9] 97.6 0.3[ (15| EB™ 97.3] 96.9 0.4
15| LEI&HET 97.7| 97.8| A 0.1 (16| FEiEmh 97.8| 97.8 0.0/|16( BHHET 97.2| 96.7 0.5
17 A& 97.6] 97.4 0.2( (17| EB™ 97.6| 97.4 0.2||17| EiEw™ 97.0] 97.0 0.0
18| FEE™ 97.5| 97.6| A 0.1|[18| &A™ 97.4] 96.2 1.2 (18| HHHET 96.9] 94.0 2.9
19| XEHT 97.3] 98.0| A 0.7|[19| LugHT 97.1] 97.0 0.1]]19| KEHT 95.6/ 97.1| A 1.5
20| #=%H 93.5| 92.7 0.8[(20| =% 96.8| 96.5 0.3[(20| =% 89.4| 88.1 1.3
g 98.2( 98.1 0.1 g 98.4( 98.2 0.2 g 97.8( 97.7 0.1
i 98.6[ 98.4 0.2 i 98.4( 98.2 0.2 i 98.5[ 98.2 0.3
] 5 98.3[ 98.2 0.1 ] 5 98.4( 98.2 0.2 ] 3 98.0[ 97.8 0.2
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